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£ #H 2 FE-KA
@ 3t+5¢ @ 9x-2x
=3+5)t=8t =9-2x="7x
®a-7a @ -3x—6x
=(-7)a=-6a =(=3-6)x=-9x
® -sy+1ly ® -5a+3a
=(-5+1y =6y =(-5+3)a=-2a
@ 7x+2x —9x—13x
=(7+2)x=9x =(9-13)x=-22x
© 8y+3y —Sx+2x
=@E+3y =11y =(-8+2x=—6x
@ -5x-2x @ sy-13y
=(-5-2)x=-7x =(6-13y=-8
® 8a—3a —3x—7x
=@E-3)a=5a =(3-7x=-10x
® —4b+17p —3x+11x
=(4+17)b=13b =(3+1D)x=8x
@ 15y-8y 13x-9x
=(15-8y="7y =(I3-9x=4x
~-16x—8x Q) 17a-22a
= (-16-8)x = -24x =(17-22)a=-5a
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£ 2 ®w-KA
D 5a+4a @ 3y—2y
=b+4)a=9a =3-2y=y
® 2x-6x @ —3x-4x
=2-6)x=—4x =(=3-4)x=-7x
® —4y+6y ® —x+9x
=(4+6)y=2y =(-1+9)x=8x
@ 3x+5x 9a-2a
=3+5)xr=8x =9-2)a=7a
@ 2b-5b ~2x— 6
=2-5b=-3b =(2-6)x=-8x
@ 4x+7x @ 4x—-9x
=(4+7)x=11x =(4-9)x=-5x
® 8y-9y ~7a—6a
=@-y=—y =(-7-6)a=-13a
® x+11x 7b—13b
=(A4+1lx=7x =(7-13)b=—4b
@ 9z+162 ~14x—18x
=(9+16)z=25z =(-14-18)x=-32x
152-23x @ -19+8y
=(15-23)x=-8 =(-19+8)y=-11y
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g # Hw-KA
@ 4x+2x ® 6a-a
=4+2)x=6x =6-1a=b5a
® 2y-10y @ -3x-2x
=2-10y=-8y =(=3-2)x=-5x
® —4b+13b ® —Bx+5zx
=(4+13)b=9 =(-8+5)x=-3x
@ 8y+5y 10x-3x
=@8+5y=13y =10-3)x=7x
© 15x-7x a—-8a
=15-7)x=8x ={1-8)a=-7a
D 2a+7a @ 3y-8y
=2+7)a=9% =3 -8)y=-5y
B 2x-11x —5x+3x
=(2-11)x=-13x =(-5+3)xr=-"2x
® —y+3y -5y +17y
=(-1+3y=2y =(5+17y =12y
D 7x+5x —7a—19a
=(7+5)x=12x =(-7-19)a =-26a
9b—-17b QO -5x+14x
=9-17b=-8b =(-5+14)x=9x
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£ B H-KAD
@ 4x+7x @ 2x-5x
=4+7x=11z =@-5r=-3x
@ 8-y @ -5a-6a
=@-1y=7 =(-5-6)a=-1la
® —3x+1lx ® —7b+5b
=(3+11)x=8x =(-7+5)b=-2b
@ 42+7z 2x—8x
=(4+7z=11z =@-8x=-6x
© 7x+6x —6a +4a
=(7+6)x=13x =(6+4)a=-2a
a 3t+5t @ 9x-2x
=3+5)=8t =©9-2x=7x
B 2a-5a —5x—9x
=@2-5a=-3a = (-5 -9)w=-14x
@ -7x+6x y-21y
=(-7+6)x=—x =@3-21y=-18y
@ 20x+11x —5x—13x
=(20+11x=-9x =(-5-13)x=-18x
2ly-7y @ -9x+15x
=@21-7y=14y =(-9+15)x=6x
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